s ST

oo

Instruction Guide:

- Sprinter -
Side Ladder

9 VANSPEED




Checklist

REVIEW PACKING SLIP TO ENSURE YOU'VE RECEIVED ALL COMPONENTS
PREPARE ALL TOOLS NECESSARY FOR PRODUCT INSTALLATION
PRE-MEASURE DISTANCES OF ALL PRODUCT MOUNTING LOCATIONS
CONFIRM CLEARANCES FOR OTHER INSTALLED BUILD COMPONENTS

++ + + +

FOLLOW ALL SAFETY PRECAUTIONS WHEN WORKING ON THE VEHICLE



Packing Slip

+ + +
Components List Hardware Kit
VNSPD-015- (SUBASSEMBLY#) VNSPD-015-HK
+ + ) + + +
Side Ladder 5/16" Button Head Bolts N
VNSPD-015-SA1 Quantity : x 1 NZ” Quantity : x 8
+ + + + +
Lower Mounting Plates \/ 5/16" Steel Flat Washers
VNSPD-015-SA2 Quantity : x 2 r Quantity : x12
+ + + + +
Roof Rail Twin Sliders R > 5/16" Serrated Flange Nuts
VNSPD-069-SA1 Quantity : x 2 B Quantity : x 8 ‘
+ + + + +

@

5/16" Nylon Lock Nuts

Quantity : x 4

+ + +



Step O1

Feed both Twin Roof Rail
Sliders into the vehicle's
integrated roof rails

Hardware:




Step 02

Attach Lower Mounting
Plates to Side Ladder
lower mounts

Hardware:

X4 x4 x4

+ o+ o+




Step 03

Thread Side Ladder
through Twin Roof Rail
Slider Studs




Step 04

Secure Side Ladder into
place along the vehicle's
integrated roof rail

Hardware:

x4 x4




Step 05

Use Lower Brackets to
mark and drill bolt holes
into vehicle's pinch seam




Step 06

Move Side Ladder out of
the way and drill out the
pinch seam bolt holes

Hardware:

E x4
HOLES

+ o+ o+




Step 07

Secure Lower Mounting
Plates against vehicle's
pinch seam

Hardware:

’\\\\\ 2
4 x4

+ o+ o+

x4




Step 08

Tighten down all Side
Ladder hardware from
top to bottom




You’ve Reached the Finish Line

V%9 VANSPEED




